+4FF%1F
T AEESEIEES 23 ST AR 3.
SV RA AR

- “EBE I EHE2L5 X704

1. PDA =58 42 (A)Public Data Assistant (B) Public Digital Assistant (C) Personal
Digital Assistant (D) Personal Data Assistant

2. TP HPOP3 ek T A4 2(A)T + &2 f F# R hFIRE (B) RF i §
FlEoRIRE (C) 2+ gaFagkosy (D) mt w2t

3. TAVR- fAslRtlig & k¥ L P2z gt8(Cache Memory) (A)DDR SDRAM
(B)SDRAM (C)SRAM (D)EDO RAM

4. BT BTEAE L 4 ADSL ey it e ¥ 245 9(A) E- AT BT EM KR E
B R RR P R PR(B) ) B e T el i B (C) RN A 4 3R
% (D) B 2Rt E’ﬁ@ﬂi%]iiﬁ“f

5, fl* BE A W ALRER- L) FEEEZRERBCFHRE (A)DDoS
attack (B)Trojan Horse attack (C)Back door attack (D)Worm attack

6. A2t ¢ 0 TAIEY e K R AERBR? (AMGREE B)RizEL (CO)F
{BiFY (D)@ E o

7. - B 32*32 ¢ =z, F@&* %> bytes (A)1024 (B)512 (C)256 (D)128

8. — fEREPIVEILIP ixnih3 3N B RPN R L O ek IR gk o
kIR F EAwp In B 2 |P nk 7 (A) DHCP (B) Address mask (C)NAT (D)
Address mapping

9. FHE-T Ma¥ 2 BF 5wl ko Pleplon g SRR st ¢ e fadREg 1 ? (A)
Line In (B) Mic In (C) Audio Out (D) MIDI/Joy Sticker.

10. T Ajen— 3 B § A %h Fot fdF g (A)abedefgh  (B)12345678
(C)providence (D)ibuyg93jio

11. ® 5l 4 & £ 425 5 1 g2 (Multiprogramming) b1 18 R IZ? (A)gZ 2 - #* 1 1%
(80 A RIET - 2107 (B)R Y- =X ¥ M EJE 5 B3 iF(process) 0 L - PFEp
FEJ2- #10F (C)F PFEPN g2 it 1 0% mﬂi;'l 41~ % 1% (1/0 operation) (D) 7. *&
o PP 7 e 5 21 iF

12. F#-- e =453 (10101.0101) 4 5 ~ & i=deF &5 ™ 71 4 7 (A) (51.21)s (B)
(25.24)s (C) (25.21)s (D) (25.05)s

13. @ * Fagd Rt é@%ﬁé@ﬁﬁ]ﬁi FOUNTRAE TR DS BIE E
TIpE hT R o R @@?]:4 it #£ = (A) e-mail  (B) WWW (C) FTP (D)
BBS

14.1SO # WAN shgeits™7 - B OSI 284 - o i &~ 2 BE2A)e & (B)I K (C)
& (D)= &

15. WinZip #4831 & & 18 5 wfEe i (A)4e 2% (B)R¥F2 2R (COR ol
(D) 32

16. 7 71 BEARR R E it P & AR (A)TeEAR PO F idp £ B (B):* &
W RE R et (C)iedr™ - BRFIp 4 himyt (D) sofedhsfandy £ gk o



4% 5%2F

17. 7 #)in % 3 LA RS & 2 (A) MOV (B)AVI (C)BMP  (D)MPG -

18. 1% 8 Internet % eBay =k @ FRALMLR W A 48 Mdp ¢ 2 afAe oA BT H A
P oeeR— 48 % 5 058 (A)B2B (B)B2C (C)C2C (D)ISP

19, #-B g2 FAED HEARRIL > 5 P BRI LR P ORREE 2T
(A)EDI (B)XML (C)SSL (D)SET

20. T A|UR- fEARNE T A E 2 2 B B ereean s B4 £ (A)Compiler (B)
Assembler (C) Interpreter (D)Linker

21 # fhit g2 WE T AP F§ 3 (A)X-X =0 B)X+X =X (C)X-0=0

(D)X +1=X -

22. T 7| R— f& BPR B ¥ 14 #-name address #& 3% = P address(A)Mail Server (B)Proxy
Server (C)DNS Server (D)FTP Server

23. 3 s wm— i 2 &R R k8 (A)Prolog (B)FoxPro (C)Access (D)Oracle

24. R T R Tk (pixel)J ehicit > vR— BT 2 1 Fr ) (AR TR
- BAFHL R BB RTRELH- B HLGE COFhIrs - B
o RIRaR RIS fAgEd (D)R e ok fgpd dep o Ad ifF s
A Bk AT

25. R T AR AR E T R P B > TR Y A AR R
(A)XML (B)HTML (C)WML (D) 12 + % 2=

26. T 7] e fE e A AU T R R R REEAE (A) WMV (B) RA (C) RAM (D)
MQV -

27. o fd 5 Mk + 2% 4/ 5 ? (A) AGP (B) USB (C) SCSI (D) IDE -

28. 14T g3t Cache 2 45 i » o 7 457 (A) H{ ezt 7 £ (B) 4> CPU & RAM
2ZF (C) " RAM eize a7 £/ (D) ¥ 4vid 7 "2 3L (705 o

29. 1T 4 SCSl 2y it - P &2 (A) - BB EDLIKE e (B) * &l
T s R oA kB E (C) - ¥ SCSI g Fhdvdike B
ZE D)FHRE 51058

30. - RAIDIlevel 37 ¥73 = %f % % 40GB 2 A &> RIHFHF €~ | 2?2 (A)
120GB (B) 80GB (C) 40GB (D) 20GB -

3l Barsg % B IP BB E o domid 25 ?“F‘ P F L H URAE 45389
(A)netstat(B)route(C)whois(D)ping

32745 B A TRt ¥Ael IEEE-1394 Ao » TR A G2 s F (A) T @ﬁi%l
3L & & IDE fﬁ,ndfikzi USB it < (B) v * ki g-kai4s - DVD ~ ‘&4
Wi R g R < 2@ R OEFERA (C) LEAEHE T (Plug-and-Play)
(D) /% & EH %%»ﬁ«}‘%

3. m WP AR F Y it E S £(A) HTML (B) XHTML (C) cHTML (D) WML

34. T 7|vR— f& F 4 1 2e k8 (A) Hard Disk (B) Flash Memory (C) ROM (D)
RAM

35. T 7| w44 Gate fi- = § * Gate (A)NAND (B)XNOR (C)OR (D)XOR -



1y

a M b

© o N

|+
S~
o
LS
(@%)
R

\ﬁﬁ.{g:ﬁﬁgzg,;gog

LCD # % # % Liquid (1) Display s ij £

RAID gt 7]k 4 (2) Array of Inexpensive Drives: i

“r) 20 B ks o A - R L 50 B 5 (bytes/sec) ? (3)

B 16 3¢ FDVD-ROM » 3 ok @ diag S b § 7 2 if 1) (4) KBps
BPentiumig2 B¢ > fpb iR G 326 0 FP T U (5) GB=z | 4
iz ht

% 11 2’s Complement it 5 i@ 342 4 77 ;2 > B](11001101):0-+ i i=dcie 5 (6)
PHEMBT R EFE R LA Y F (7)

10 844 172 017 & 16 4|7 icw &7 9 (8)
TS 1101101 € * e i~k h 0 B E e 2 A/ EE_(9)

10. B T AN i %éiﬁi%] LR S (10)

#include <stdio.h>
main()
{
union data {
int a;
char b;
Hest;
test.a=17,;
test.b=20;
printf(*%d\n”, test.a);

}

LRI TR ZHF S S P (11)

#include <stdio.h>
main()
{int 1,j, cnt=0;
for (i=1; i<=10; i++)
for (j=1; j<10; j++)

{
if (i==5) continue;
if (j>5) break;
cnt++;

¥

printf(“%d\n”, cnt);



123K T2 2 T8 % 5P (12)

#include <stdio.h>
main()

{

int a[5];
int *pa;
a[0]=10; a[1]=20; a[2]=30; pa=&a][0];
printf("%d",*(pa+2));

}

@ : (13)

(14)

13. 3k 0 AN ZHETESES
#include <stdio.h>
void main()

{
int a=1;
printf("%d",a++);
printf("%d",++a);

}

14. 3R TRt 2 REFEE L @ (15)

#include <stdio.h>
void main()
{
int n1=462, n2=630, temp, rem;
if (n1<n2)
{ temp=nl;
nl=n2,
n2 =temp; }
while (n2 !'=0)
{ rem=nl1% n2;
nl=n2,
n2=rem; }
printf(“The answer is %d”,n1);



1%

CHEREY L FERT AP RS
5 R R LR

A

wEE R
— CEAL (% 3540)
1 2 3 4 5 6 7 8 9 0
1 C B C C A C D C C D
11 B B C D B C C C C C
21 D C A B A A A A C B
31 C D D D A
= v E R (X 15 %)
1 2 3 4 5
Crystal Redundant 150k 21600 4
6 7 8 9 10
-51 UNICODE 11 11011010 20
1 12 13 14 15
45 30 1 3 The answer is 42




47 %1
;%asaﬂﬁti-ﬁﬁ& L %
R Y E %$g

|

ES il 2 Al E aTl)’F%ﬁfﬁ:%J%mﬂg?—‘rgﬁ#%\ ??rgﬁie?lﬂi*’?%’ﬁoﬂ
e BT N E R BF () BARG - RS S BF A EHERR T £

A|B|C|D|E|F|G|H|€%- B2z
Al A | E Il | M| Q| U] Y
BI{B|F|J|N|R|V]|Z :
CIlC|G|K|]O|]S | W ?
DID|H|L|P|T]|X Ze
R¥- ppmz2
(2]
A K Y, o €p
2 \! 2 \!
AA CcC BF DH €3
o
gi%l » t Hi, how are you?
gi%l 4 DBACBHDHDBCDCFDHAABEABDHAGCDAFCH

Farey #cr|R AL : #-im09) 0% 1(# 7 02 D)2 > @ 23 2428 © %7 p 2%k N
cherg e KA g d ) Bl XOER RS - P fE2 5 8 N FFeh Farey #ic5) ° R - BAZ
FAM LT dg3£@]»¢97¢gc N(N<= 20)6“£ﬁﬂ;.,ﬁ % N rgenFarey #ic

;IJ o

i

voR

-4
- 0,1/4,1/3,1/2, 213, 3/4, 1

T

S B R

&
=
N

5
- 0, 1/5,1/4,1/3, 2/5, 112, 3/5, 2/3, 3/4, 4/5, 1

e
=



£4F ¥2F

3 R ﬁ%(ﬁ#%1®1&9ﬂ&ﬂ%%ﬁwﬂﬁm&%ywﬁ@mﬁiiﬁﬁi_
@”kﬁﬁ FooAoRER R RBHHNTTHI  FRNEF AR R AL
Po LB ESRDES  RAEF DA L B e s R 2 2
FenfdWlic® 515 3 B> B 2[87iE d 4o o
D) %FhFHF%5- ¢ F-BarkFPE2 05

HE =55 s (BEFE—rh K)

L2 TRFER R R BTN SR B - Lok ALt B 2ok Hoek g
ﬁ%ﬁﬁ“—é’ﬂwﬁ%ﬁ7%&Nfﬁ@ﬁﬁio
B & - s L2 MpoHarb Il LHRANEDHFATAHT ZHRSE I bldo

25 25% 10T %= &5 202 15 pz > PP = & Fpeh £ Bic s (25-20)*0.5 +

(15-10)*0.5 =5 3(% - B - prA 4 052 4) BREFA B AFTERH|™ 6 FHHHK > B
B HF Ao A2 o

B~ c g~ - B ANbaseball.txti (R P 5 2 RS AT) o MR R S S SR R R
oF s - BE PR v/&i]t\ SHE - B R RE A NE - R 2 )@?’:iﬁ-ﬁ:‘
P 2 & RO S -

e E H o ko % s R VG B 5o (FIAHR)
Yo g % 50 25 1 14 0 2 2 2 2 2
cL— 50 22 2 16 2 0 2 2 2 2
R 50 27 3 10 2 2 0 2 2 2
¢ R 50 16 2 22 2 2 2 0 2 2
;)5:«:]1& =K 50 14 1 25 2 2 2 2 0 2
%- £K) 50 10 3 27 2 2 2 2 2 0

BRSO LA AR TAITHINF L > f BB RS
Bﬁ%ﬁ‘ﬁw%$‘$¥—?i%£‘£%ﬁﬁio

B OME E % fo p g A
1 ®p4: 50 27 3 10 0730 M7 (RiricT)
2 w%%: 50 25 1 14 0.641 3
3 s-jm 50 22 2 16 0.579 55
4 ¢ zgr: 50 16 2 22 0421 115
5 4 <M 50 14 1 25 0359 14
6 %- &K 50 10 3 27 0270 17



£4F ¥3F

Wit— Bodump At AR R - B LB M ST S DB FAELNE R
dump fzf » R (s o BB F@ ¥ 4“%] ~ 35 B o1 ehsector F f(F — sector z 128 bytes
#L, sector 55 £.d O B4odm5) Rfe g o 2@ 16 - 16 2/ > Bm b E P 7
g + BB AP 16 38 4B ASCH 75 o Bg o P ete sV it 4o T %—%}E‘E %
3§ e e ASCIL 4 o

a. * =Bt osector FH o & Bsector §.128 e FoF - S 16 Bl
11638 248 0 Hd L E AR 16 12 248 s ASCII 45 - & = g1 8 7(128/16=8) -

b. +:# ASCI 2. BE E >0 127 & A E0 02 ] * 32(0<=x<32) £ >3 7 7 7| E°
F&o Bl e 8RN EE T % E_% 30 1270 £ > IBM extended character set (IBM 2t @ #§) »
Pl (M) EE T e

C. ﬁi%l » 2 #kF N 4 g BT 2 sector B o %”ﬁis?] ~-1 P AR o

d. FRRIEE kAR test.exe o

K

B

ol T»}

AT R E DR R L TS A

C:\>dump test.exe
Enter sector (-1 to exit): O

4D
B8
00
00
OE
69
74
6D

5A 90 00 03 00 OO0 0O 04 00 00 OO0 FF FF 00 OO0 MZz?......... ??..
00 00 00 00 OO OO 00 40 OO OO OO0 OO OO OO0 00 2....... @ e
00 00 00 OO0 00 OO OO 00 OO 00 OO0 OO0 00 00 OO0 «--eiiieieaaaan
00 00 00 OO0 00 OO OO 00 OO0 OO OO0 D8 00 00 OO0 wocceennnn-. ?...
1F BA OE 00 B4 09 CD 21 B8 01 4C CD 21 54 68 ..?..?.?21?_L?!Th

73 20 70 72 6F 67 72 61 6D 20 63 61 6E 6E 6F is program canno
20 62 65 20 72 75 6E 20 69 6E 20 44 4F 53 20 t be run in DOS
6F 64 65 2E OD OD OA 24 00 00 00 OO 00 OO0 OO mode....$.......

Enter sector (-1 to exit): 5

46
63
4C
64
00
49
6C
00

98 50 38 9B 00 00 00 OO OO0 OO OO OO OO OO OO0 F?P8?.....c..--.
6F 6D 64 6C 67 33 32 2E 64 6C 6C 00 53 48 45 comdlg32.dl1.SHE
4C 33 32 2E 64 6C 6C 00 4D 53 56 43 52 54 2E LL32.dII.MSVCRT.
6C 6C 00 41 44 56 41 50 49 33 32 2E 64 6C 6C dIl._ADVAPI32.dll
4B 45 52 4E 45 4C 33 32 2E 64 6C 6C 00 47 44 _KERNEL32.dll1.GD
33 32 2E 64 6C 6C 00 55 53 45 52 33 32 2E 64 132.d11.USER32.d
6C 00 57 49 4E 53 50 4F 4F 4C 2E 44 52 56 00 11._WINSPOOL.DRV.
00 00 00 00 OO OO OO0 OO OO OO OO0 OO0 OO0 OO0 00 . .ccvcicmaaaa-

Enter sector (-1 to exit): -
Bye bye!



format that any computer can understand. This is usually so they can easily import the file inta their own applications without issues. Notepad exe

ASCH Table and Descrrintion

ASCI stands for American Standard Code for Information Interchange. Computers can only understand numbers, =0 an ASCH code is the
numerical representation of = character such 2= '2' or '& or an action of some sort. ASCI was developed = long time =go =nd now the non-
printing characters are rarely used for their original purpose. Belowr is the ASCI character table and this includes descriptions of the first 32 non-
printing characters. ASCI was actually designed for use with teletypes and =so the descriptions are somewhat obscure. F someone says they
want your CV howewver in ASCH format, all this means is they want 'plain’ text with no formatting such as tabs, bold or underscaring - the ranes

creates ASCI text, or in MS Word you can sawve afile as text only'

—

47

Cec Hxoct Char Dec Hx Qct Himl Chr  |Dec Hx Oct Himl Chr| Dec Hx Oct Himl Chr
0 0 000 NUL (ruall) 32 20 040 &#32; Space| 64 40 100 s#6d; [ 98 60 140 &#96;
1 1 001l 30H (start of heading) 33 Z1 041 &#33; ! 65 41 101 «#065; & [ 97 &1 141 &#97; 4
2 2 002 ST¥ (start of text) 34 22 042 &#34: " A6 42 102 s#66:; B | 98 62 142 &«#598; b
3 3 003 ETX (end of text) 35 23 043 &#35; # 67 43 103 «#67; C 99 53 143 &«#99; «©C
4 4 004 EOT (end of transmission) 36 24 044 &#36; § 65 44 104 ##65; D [100 64 144 &#100; d
S5 5 005 ENQ [enguiry) 37 25 045 &§F37r % 69 45 105 «#659: E (101 o5 145 &#l0l; e
& & 006 ACE [acknowledge) 33 26 046 &#3538; & 70 46 106 «#70; F |102 66 146 «#102; £
7 7 007 EEL (bell) 39 27 047 &#39; T1 47 107 «#71: = (103 &7 147 &#103:; O
& & 010 BES (backspace) 40 28 050 &#40;7 | 7z 43 110 ##72; H [104 68 150 &#104; h
9 9 011 TAE (horizontal tab) 4] Z9 051 &#41; ) 73 49 111 ##73; I |105 69 151 «#105; 1
10 A4 012 LF (NL line feed, new line)| 42 Z4 052 &fd2; * 74 4b 112 s#74; J |106 64 152 &#106; ]
11 B 013 VT (wertical tah) 43 ZBE 053 &#d3: + 75 4B 113 s#75: K |107 6B 153 &#107; k
12 C 014 FF (NP form feed, new page)| 44 2C 054 &#4d: , 76 4C 114 s#76: L |108 6C 154 &#108: 1
13 D 015 CR  (carriage return) 45 2D 055 e#d5; - 77 4D 115 &#77; M (109 6D 155 &#109; o
ld E 0l 30 (shift out) 45 ZE 056 &#d6; . 75 4E 116 &#78; N |110 6E 156 &#ll0:; 1
15 F 017 I (shift in) 47 2F 057 &#47; / 79 4F 117 &#79; 0 |111 &F 157 &#111; ©
le 10 020 DLE (data link escape) 43 30 060 &#F45: 0 90 50 120 «#50; P (l1z 70 le0 &#ll=: p
17 11 021 DCL {dewice control 1) 49 31 06l &#49; 1 Gl 51 121 &#51; 0 (113 71 16l &#113; o
18 12 022 DCZ (dewice control 2) B0 3Z 0BZ &#50; 2 82 BZ 122 e#582; R (114 72 16z &#114; ¢
19 13 023 DC3 (dewice control 3) 51 33 065 &#51: 3 G3 53 123 &#583; 5 |115 73 163 &#115; S
20 14 024 DC4 (dewice control 4) 52 34 06d «#52; 4 g4 54 124 «#54; T (L16 74 led «#lle; ©
21 15 025 NAE (negative acknowledge) 53 35 065 &#53; 5 85 55 125 «#585; 1T (117 75 165 &#117; u
22 16 026 3VN (synchronous idle) 84 36 066 &#5d; 0 g6 56 126 «#80; ¥ (118 76 166 &#118; v
2% 17 027 ETE (end of trans. hlaock) 585 37 067 &#55: 7 87 57 127 &#87: W |119 77 167 &#119; w
24 18 030 CAN (cancel) 56 33 070 &#56; 8 99 53 130 «#55; X [lz0 73 170 &#l=0; =
25 19 031 EM  {end of medium) 57 39 071 &#57;: 9 89 59 131 &#89; ¥ |121 79 171 &#lz2l: ¥
26 14 032 3UEB (substitute) B3 34 072 &#58: a0 B 132 &#20; £ (122 T4 172 &#ldr E
27 1E 033 ESC (escape) 59 3B 075 &#59: : 91 5B 135 ##91; [ |123 7B 175 &#123; §
28 1C 034 F5  [(file separator) G0 3C 074 &#60; < 92 EC 134 «#92; % (124 7C 174 &«#l=24;
29 1D 035 G5 [(group separator) gl 3D 075 &#6l; = 03 ED 135 s#93; ] |125 7D 175 &#125; }
30 1E 036 RS  (record separator) a2 3E 076 &#0; - 94 EE 136 «#24; ~ (126 TE 176 &#l=6: -
31 1F 037 U3  ({unit =zeparator) 63 3F 077 &#63: ¢ 95 5F 137 &#95: _ |127 7F 177 &#127; LEL

122
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143

o144 E 16D
i 145 = 16l
é 146 £ 182
i 47 5 163
i 142 & 164
i 149 & 163
3 150 1 166
P 151 167
8 152 162
F 153 O 169
H 154 10 170
i 156 £ 171
i 157 % 172
i 152 173
A 1m g 174
A 1z L 175

Extended ASCIl Codes

A= people gradually required computers to understand additional characters and non-printing characters the ASCI =&t became restrictive. As
with most technology, it took = while to get a single standard for these extra characters and hence there are few warying 'extended' set=. The most

e e - e o T

popular is preserted belows.

176
177
178
172
120
151
152
153
124
185
126
187
158
129
190
191

7

L = =

193
194
195
196
197
192
199
200
201
202
203
204
205
206
207
208

== T

=

IF =

—_—
i Tl

==

=

209
210
211
212
213
214
215
216
217
418
219
220
221
212
223
224

=== @ - 4 A

B ™ 0 N

ol

Source: www.asciitable.com

25 0§ 241
2 ¢ 242z
2T o M3 <
22 % 24 [
s )
230 i 246 =
ey 247
232 & 248 -
ricx S YR X

234 o 25
23505 251 o
2% w252
37§ 253 ¢
i R 254 W
230~ 255

240 =

Source: www.asciitable.com

$4F



s BHF® HFH FEF

S E

T

B

v

T

S E

v

T

S E

i .
v

T

i .
v

T

i .
v

T

v

Hi, how are you?
DBACBHDHDBCDCFDHAABEABDHAGCDAFCH

T

v

Harry Potter
DBAABEBEAGDHDDCDDEDEABBE

T

v

She has lovely eyes.
CEDBABDHDBAACEDHDCCDBFABDCAGDHABAGABCEAH

T

v

Well, | will take it.
CFABDCDCBHDHACDHCFACDCDCDHDEAACCABDHACDEAH

T

v

Who make that noise?
CFDBCDDHADAACCABDHDEDBAADEDHBDCDACCEABCH

T~
Rt
*‘n

N

10,1/2,1

-3
:0,1/3,1/2,2/3, 1

-4
10, 1/4,1/3,1/2, 213, 3/4, 1

°5
20, 1/5, 1/4, 113, 2/5, 1/2, 315, 2/3, 3/4, 4/5, 1

-7
0, 1/7, 1/6, 1/5, 1/4, 217, 1/3, 215, 3/7, 112, 417, 3/5, 2/3, 5/7, 3/4, 4/5, 5/6, 6/7, 1



e BE % e o G - BR YR B 5- (FISHR)
L9 60 29 0 19 O 3 3 2 2 2
- 60 30 6 12 3 0 3 2 2 2
wmp s 60 28 3 17 3 3 0 2 2 2
v izgg 60 17 3 28 2 2 2 0 3 3
;/ﬁ» ~f 60 12 6 30 2 2 2 3 0 3
- £k 60 19 0 29 2 2 2 3 3 0
=R S
FER A 4 BE % 7 R %F %A

1 %-f 60 30 6 12 0714 M8
2 @R 60 28 3 17 0.622 3.5
3 L 60 29 0 19 0.604 4

4 %- &K 60 19 0 29 0.396 14

5 LR 4 60 17 3 28 0.378 14.5
6 6 30 0.286 18

;ﬁ—‘a& =B 60 12



C:\>dump test.exe
(-1 to exit): O

Enter sector

4D
B8
00
00
OE
69
74
6D

Enter sector

46
63
4C
64
00
49
6C
00

Enter sector

20
00
04
86
00
00
00
00

Enter sector

5A
00
00
00
1F
73
20
6F

98
6F
4C
6C
4B
33
6C
00

64
10
00
C4
00
00
AO
00

90
00
00
00
BA
20
62
64

50
6D
33
6C
45
32
00
00

00
00
00
01
10
00
00
00

Bye bye!

00
00
00
00
OE
70
65
65

38
64
32
00
52
2E
57
00

00
00
00
00
00
00
00
00

03
00
00
00
00
72
20
2E

00
00
00
00
B4
6F
72
0D

00
00
00
00
09
67
75
0oD

00
00
00
00
CD
72
6E
OA

04
40
00
00
21
61
20
24

00
00
00
00
B8
6D
69
00

(-1 to exit): 5

9B
6C
2E
41
4E
64
49
00

00
67
64
44
45
6C
4E
00

00
33
6C
56
4C
6C
53
00

00
32
6C
41
33
00
50
00

00
2E
00
50
32
55
4F
00

00
64
4D
49
2E
53
4F
00

(-1 to exit): 2

00
00
00
02
00
00
BC
00

10
02
00
00
10
00
46
00

00
00
00
00
00
00
00
00

00
00
00
80
00
00
00
00

00
05
00
00
00
50
00
00

80
00
00
00
00
66
00
00

(-1 to exit): -1

00
00
00
00
01
20
6E
00

00
6C
53
33
64
45
4C
00

00
00
01
04
00
00
00
00

00
00
00
00
4C
63
20
00

00
6C
56
32
6C
52
2E
00

00
00
00
00
00
00
00
00

FF
00
00
D8
cD
61
44
00

00
00
43
2E
6C
33
44
00

00
05
00
00
10
B4
00
00

FF
00
00
00
21
6E
4F
00

00
53
52
64
00
32
52
00

00
00
06
10
00
00
00
00

00
00
00
00
54
6E
53
00

00
48
54
6C
47
2E
56
00

00
00
00
00
00
00
00
00

00
00
00
00
68
6F
20
00

00
45
2E
6C
a4
64
00
00

is program canno
t be run in DOS
mode....$.......

comdlg32.d11_SHE
LL32_.dIl_MSVCRT.
dIl1.ADVAPI132.d11
-KERNEL32.d11.GD
132_d11.USER32.d
11 _WINSPOOL.DRV.
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